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https://www.100test.com/kao_ti2020/145/2021_2022_JAVA_E9_A

2_98_E5_BA_93_c104_145622.htm question 55)what will happen

when you attempt to compile and run the following code?public

class agg{static public long i=10.public static void main(string

argv[]){ switch(i){ default: system.out.println("no value given"). case

1: system.out.println("one"). case 10: system.out.println("ten"). case

5: system.out.println("five"). } }}1) compile time error2) output of

"ten" followed by "five"3) output of "ten"4) compilation and run

time error because of location of defaultquestion 56)given the

following classpublic class zeroprint{public static void main(string

argv[]){ int i =0. //here }}which of the following lines if placed after

the comment //here will print out 0.1) system.out.println(i ).2)

system.out.println(i 0).3) system.out.println(i).4)

system.out.println(i--). 100Test 下载频道开通，各类考试题目直

接下载。详细请访问 www.100test.com 


